
SAP ABAP table T7PIQ_SI2_PINDX {Acad. Performance Index}

T7PIQ_SI2_PINDX

MANDT [CLNT (3)]

PINDEX [CHAR (16)]

CALCULATOR_ID [CHAR (4)]

CALC_SCALE [CHAR (4)]

PINDEX_SCALE [CHAR (4)]

T000

MANDT [CLNT (3)] T7PIQ_SI2_PINDX-MANDT = T000-MANDT 0..N

0..N T7PIQSCALE

MANDT [CLNT (3)]

SCALEID [CHAR (4)]

 T7PIQ_SI2_PINDX-CALC_SCALE = T7PIQSCALE-SCALEID 
0..N0..N  T7PIQ_SI2_PINDX-PINDEX_SCALE = T7PIQSCALE-SCALEID 
0..N0..N

T7PIQ_SI2_CALC

CALCULATOR_ID [CHAR (4)]

 T7PIQ_SI2_PINDX-CALCULATOR_ID = T7PIQ_SI2_CALC-CALCULATOR_ID 
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